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QUESTION 1

Which of the following can be used in a SELECT statement to set one or more qualifying conditions to a group of
records after they are formed? 

A. HAVING 

B. WHERE 

C. GROUP BY 

D. ORDER BY 

Correct Answer: A 

 

QUESTION 2

Which two events can initiate a trigger on a table? (Choose two.) 

A. DROP 

B. ALTER 

C. INSERT 

D. SELECT 

E. TRUNCATE 

Correct Answer: CD 

 

QUESTION 3

What are the three major steps in implementing Label-Based Access Control (LBAC) in an instance environment?
(Choose three.) 

A. Define a security policy with access rules. 

B. Assign security labels to users and data elements 

C. Create security label definitions using set, tree, and/or array components 

D. Disable role separation since LBAC supersedes anything role separation might provide and it interferes with LBAC. 

E. Create and install either general or user-specific sysdbopen() functions so that LBAC is active when users connect to
the instance. 

Correct Answer: ABC 

 

C2090-558 VCE Dumps | C2090-558 Study Guide | C2090-558 Exam Questions                                2 / 4

https://www.passapply.com/c2090-558.html
https://www.passapply.com/c2090-558.html
https://www.passapply.com/c2090-558.html


https://www.passapply.com/c2090-558.html
2024 Latest passapply C2090-558 PDF and VCE dumps Download

QUESTION 4

Which phase of Fast Recovery rolls forward (restores) all transactions since the last checkpoint and rolls back any
uncommitted transactions? 

A. Logical Recovery 

B. Physical Recovery 

C. Dbspace Recovery 

D. Transactional Recovery 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 

In the exhibit, which two statements are correct? (Choose two.) 
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A. the rootdbs dbspace is online 

B. the dataspace dbspace is online 

C. the rootdbs dbspace contains 2 chunks 

D. the dataspace dbspace contains 2 chunks 

E. the dataspace and rootdbs are both online 

Correct Answer: AC 

C2090-558 VCE Dumps C2090-558 Study Guide C2090-558 Exam Questions

Powered by TCPDF (www.tcpdf.org)

C2090-558 VCE Dumps | C2090-558 Study Guide | C2090-558 Exam Questions                                4 / 4

https://www.passapply.com/c2090-558.html
https://www.passapply.com/c2090-558.html
https://www.passapply.com/c2090-558.html
http://www.tcpdf.org
https://www.passapply.com/c2090-558.html
https://www.passapply.com/c2090-558.html
https://www.passapply.com/c2090-558.html

